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K 10.0 90.0 10.0 220 220 58.0 50.0 49.0 25.0 10.0 10.0 B # 10.0 23.0 19.0 225 66.0 10.0 10.0 34.0 10.0 10.0 43.0 16.0
B M 10.0 220 225 50.0 33.0 10.0 10.0 67.0 10.0 175 10.0 B M 40.0 70.0 10.0 10.0 30.0 10.0 10.0 19.0 225 10.0 52.0 320
E A 495 102.0 105.0 30.0 25.0 28.0 875 15.0 50.0 73.0 10.0 E Al 10.0 10.0 28.0 10.0 66.0 355 91.0 26.0 375 10.0 16.0 91.0
= E 57.5 59.0 10.0 62.0 48.0 97.0 35.0 26.0 45.0 25.0 58.0 = E 10.0 58.0 34.0 10.0 10.0 10.0 37.0 28.0 10.0 90.0 67.0 50.0
Ik £ 34.0 10.0 45.0 34.0 28.0 45.0 10.0 13.0 10.0 10.0 10.0 Ik B 10.0 20.0 49.0 10.0 10.0 415 46.0 55.0 225 10.0 10.0 54.0
% B 35.0 10.0 50.0 45.0 42.0 55.0 10.0 10.0 10.0 10.0 10.0 % &' 10.0 55.5 10.0 52.5 10.0 10.0 10.0 45.0 10.0 10.0 10.0 72.0
= 60.0 30.0 375 52.5 12.0 69.0 50.0 67.0 60.0 10.0 10.0 = 10.0 12.0 103.0 10.0 30.0 175 13.0 10.0 175 10.0 10.0 21.0
N 40.0 111.0 70.0 30.0 41.0 33.0 57.5 220 10.0 415 10.0 X R 225 17.0 10.0 40.0 30.0 47.5 19.0 26.0 43.5 88.5 85.0 10.0
£ E 63.5 55.0 37.5 34.0 13.0 50.0 225 13.0 80.0 10.0 10.0 5 B 10.0 24.0 10.0 35.0 66.0 10.0 250 10.0 47.5 10.0 31.0 30.0
= B 10.0 10.0 10.0 230 10.0 28.0 10.0 49.0 70.0 10.0 50.0 X R 10.0 93.8 10.0 10.0 10.0 10.0 10.0 15.0 10.0 10.0 34.0 32.0
FER L 175 10.0 10.0 43.5 39.0 32.0 10.0 16.0 35.0 10.0 10.0 FE L 42.5 12.0 55.0 10.0 10.0 10.0 10.0 16.0 10.0 10.0 10.0 55.0
5 H 205 10.0 10.0 175 33.0 10.0 10.0 12.0 10.0 10.0 10.0 5 H 57.5 14.0 10.0 10.0 10.0 10.0 34.0 15.0 10.0 10.0 40.0 28.0
E R 10.0 10.0 10.0 15.0 12.0 10.0 10.0 10.0 10.0 26.5 10.0 5 R 10.0 10.0 28.0 10.0 10.0 17.5 10.0 19.0 10.0 25.0 10.0 68.0
W 835 20.0 10.0 395 10.0 67.0 10.0 23.0 50.0 175 10.0 L 10.0 28.0 220 10.0 134.0 17.5 52.0 28.0 225 10.0 10.0 26.0
L & 175 10.0 10.0 30.0 23.0 10.0 45.0 16.0 70.0 46.0 10.0 5 & 10.0 19.0 10.0 225 10.0 175 10.0 28.0 10.0 45.0 10.0 26.0
W a 60.0 10.0 375 275 70.0 14.0 10.0 10.0 10.0 52.0 10.0 A 10.0 13.0 10.0 10.0 10.0 175 37.0 10.0 10.0 10.0 55.0 20.0
& 29.5 10.0 10.0 345 13.0 49.0 40.0 17.0 45.0 10.0 10.0 & 10.0 16.0 19.0 10.0 10.0 10.0 10.0 220 35.0 10.0 10.0 46.0
& B 10.0 10.0 10.0 15.0 10.0 36.0 10.0 10.0 15.0 10.0 10.0 " & 10.0 22.0 10.0 10.0 10.0 10.0 10.0 61.0 35.0 30.0 10.0 120
B & 10.0 10.0 225 34.0 10.0 66.0 10.0 63.0 10.0 26.5 10.0 B & 10.0 12.0 13.0 10.0 50.0 175 58.0 17.0 175 10.0 10.0 54.0
= Al 10.0 10.0 225 435 10.0 10.0 10.0 10.0 10.0 59.5 10.0 = Al 10.0 21.0 10.0 10.0 30.0 10.0 49.0 21.0 10.0 10.0 16.0 39.0
2 [ 27.5 38.0 65.0 35.0 31.0 46.0 10.0 33.0 10.0 34.0 66.0 B | 37.5 320 10.0 525 98.0 10.0 13.0 18.0 40.0 99.0 10.0 41.0
T =& 50.5 50.0 10.0 69.5 65.0 56.0 40.0 17.0 10.0 10.0 10.0 T =B 10.0 10.8 10.0 225 74.0 175 31.0 55.0 225 10.0 76.0 31.0
® I 10.0 10.0 10.0 30.5 10.0 18.0 10.0 13.0 10.0 10.0 26.0 R B 31.0 13.0 10.0 10.0 54.0 31.0 10.0 30.0 10.0 38.0 16.0 42.0
S E BB A 57.5 10.0 225 235 14.0 12.0 52.5 25.0 10.0 10.0 10.0 BB A 30.0 32.0 10.0 10.0 10.0 25.0 19.0 18.0 10.0 10.0 10.0 15.0 SE
gg; X 2 35.0 10.0 10.0 20.5 10.0 46.0 10.0 43.0 10.0 17.5 10.0 X @ 10.0 17.0 40.0 10.0 10.0 10.0 10.0 49.0 225 47.0 10.0 54.0 g{i
7—_“7_-,//11 = 10.0 10.0 225 28.0 10.0 39.0 10.0 48.0 10.0 10.0 10.0 = IE 10.0 135 10.0 45.0 10.0 17.5 49.0 14.0 40.0 10.0 10.0 112.0 5_\‘5/[]
; H ERE 10.0 30.0 225 40.5 37.0 36.0 225 45.0 10.0 43.0 10.0 EBRS 10.0 37.0 49.0 10.0 54.0 10.0 76.0 30.0 40.0 10.0 34.0 30.0 ,Jq &l
R 34.0 10.0 10.0 25.0 10.0 112.0 35.0 11.0 10.0 10.0 74.0 R 10.0 10.0 10.0 10.0 10.0 10.0 37.0 10.0 10.0 10.0 10.0 27.0
g 1,406 1,442 1,190 1,622 1,118 2,054 1,190 1,370 1,190 902 758 &t 758 1,298 1,118 1,010 1,622 902 1,334 1,226 1,118 1,118 1,334 1,838
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tiEE 19.0 10.0 10.0 10.0 36.5 10.0 10.0 466.00 1 172.50 90.00 | 203.50 JtiEE 21 619.5 473.0 34 46.0 17.0 10.0 10.0 10.0 10.0 0.0
75 & 16.0 12.5 16.0 10.0 34.0 10.0 10.0 98.00 18 20.00 35.00 43.00 5 & 39 474.5 4345 39 14.0 20.0 10.0 10.0 10.0 10.0 10.0
= F 25.0 125 10.0 16.0 10.0 10.0 10.0 103.00 16 50.00 10.00 43.00 a5 F 28 559.0 508.0 30 13.0 10.0 10.0 10.0 10.0 30.0 0.0
= O 10.0 30.0 28.0 10.0 28.0 14.5 10.0 48.00 25 25.00 10.00 13.00 = 25 568.5 533.5 25 30.0 10.0 10.0 10.0 55.0 10.0 10.0
& H 10.0 10.0 10.0 10.0 10.0 10.0 10.0 136.00 9 10.00 10.00 | 116.00 @ H 37 482.0 432.0 42 17.0 20.0 10.0 10.0 37.0 0.0 0.0
1 31.0 10.0 10.0 10.0 10.0 10.0 10.0 115.00 13 52.00 10.00 53.00 W 26 567.5 508.5 29 33.0 455 10.0 10.0 10.0 10.0 125
B B 10.0 15.0 13.0 22.0 10.0 10.0 10.0 33.00 32 13.00 10.00 10.00 =m= B 45 423.5 400.5 45 24.0 11.0 10.0 10.0 16.0 10.0 0.0
x W 10.0 125 10.0 25.0 70.5 55.0 10.0 59.00 21 25.00 10.00 24.00 x W 30 555.0 515.0 27 24.5 26.0 10.0 10.0 10.0 10.0 0.0
#H AN 10.0 77.0 55.0 43.0 10.0 31.0 15.0 140.00 7 94.00 30.00 16.00 w K 2 1,092.0 | 1,040.0 2 30.5 24.0 30.0 22.0 27.0 78.0 10.0
B B 31.0 22.0 10.0 10.0 79.0 10.0 10.0 124.00 12 89.00 10.00 25.00 BB 16 665.0 620.0 16 23.0 34.0 10.0 10.0 28.0 10.0 10.0
% £ 25.0 235 19.0 10.0 43.5 26.5 14.0 155.00 5 65.00 75.00 15.00 B £ 4 1,006.0 953.0 4 35.0 945 50.0 49.0 42.0 10.0 15.5
F = 10.0 44.0 10.0 10.0 44.0 10.0 10.0 58.00 22 28.00 20.00 10.00 F E 10 786.5 766.5 8 43.0 95.0 10.0 10.0 10.0 10.0 0.0
B = 37.0 71.0 22.0 43.0 13.0 34.0 21.0 171.00 3 83.00 75.00 13.00 B = 1 1,311.0 | 1,249.0 1 62.5 197.0 74.0 28.0 65.0 30.0 15.5
FEEI 34.0 26.5 19.0 10.0 51.0 34.0 10.0 149.00 6 85.00 50.00 14.00 FiE=I | 8 820.0 748.0 10 38.0 161.0 10.0 13.0 10.0 10.0 125
o 10.0 22.0 10.0 16.0 10.0 16.0 10.0 109.00 14 89.00 10.00 10.00 W 3 33 520.5 434.5 39 10.0 15.0 10.0 10.0 20.0 30.0 0.0
woR 10.0 18.0 10.0 10.0 22.0 13.0 10.0 139.00 8 10.00 10.00 | 119.00 oOR 38 475.5 419.5 43 32.0 24.0 10.0 10.0 10.0 10.0 10.0
r ¥ 10.0 20.0 10.0 10.0 10.0 10.0 10.0 402.00 2 254.00 10.00 | 138.00 ® % 13 703.0 540.0 24 345 28.0 10.0 25.0 42.0 10.0 0.0
= [ 22.0 10.0 10.0 10.0 10.0 10.0 10.0 99.00 17 26.00 20.00 53.00 = W 29 555.5 511.5 28 11.0 36.0 10.0 10.0 26.0 66.0 0.0
a 10.0 125 10.0 10.0 12.0 10.0 10.0 35.00 31 10.00 10.00 15.00 A 20 621.5 598.5 18 10.0 46.0 10.0 10.0 10.0 10.0 10.0
B 16.0 15.0 10.0 13.0 10.0 10.0 17.0 47.50 26 19.50 10.00 18.00 = 18 626.5 616.5 17 215 10.0 10.0 10.0 135.0 10.0 125
B M 34.0 26.0 10.0 10.0 28.0 10.0 10.0 30.00 34 10.00 10.00 10.00 % M| 17 648.5 628.5 15 51.0 33.0 66.0 22.0 38.0 10.0 0.0
Lo | 34.0 10.0 10.0 10.0 71.0 34.0 11.0 160.00 4 125.00 25.00 10.00 2 A 3 1,027.0 962.0 3 54.0 103.0 10.0 58.0 10.0 10.0 0.0
= =B 34.0 15.0 25.0 25.0 34.0 10.0 23.0 47.00 27 16.00 10.00 21.00 = = 15 690.0 657.0 14 31.0 27.0 10.0 10.0 20.0 10.0 10.0
I £ 34.0 285 10.0 10.0 10.0 13.0 14.0 107.50 15 46.00 10.00 51.50 Iz B 7 836.0 797.5 6 29.0 40.5 10.0 13.0 71.0 138.0 125
% B 28.0 10.0 10.0 10.0 25.0 10.0 17.0 57.00 23 34.00 10.00 13.00 % B 24 608.0 585.0 21 49.0 18.0 10.0 10.0 10.0 10.0 10.0
=B 10.0 51.0 28.0 10.0 33.0 10.0 12.0 84.00 20 36.00 35.00 13.00 =B 793.5 762.5 9 47.0 98.0 30.0 16.0 26.0 30.0 10.0
X BR 61.0 48.5 10.0 10.0 34.0 19.0 12.0 88.00 19 68.00 10.00 10.00 X BR 907.5 863.5 5 70.5 127.0 10.0 19.0 18.0 10.0 10.0
E &= 28.0 24.5 10.0 43.0 13.0 26.5 10.0 132.00 11 109.00 10.00 13.00 & & 6 8475 794.5 7 66.0 87.5 10.0 10.0 10.0 10.0 10.0
= R 10.0 10.0 10.0 73.0 23.0 10.0 10.0 30.00 34 10.00 10.00 10.00 = R 32 528.0 508.0 30 36.0 18.0 10.0 10.0 10.0 30.0 17.0
ML 10.0 12.5 10.0 13.0 74.0 10.0 10.0 20.00 44 0.00 10.00 10.00 FFw 36 483.0 473.0 34 31.0 18.0 10.0 10.0 10.0 10.0 0.0
E 16.0 10.0 10.0 10.0 10.0 10.0 11.0 32.00 33 10.00 10.00 12.00 E B 40 462.5 4425 36 10.0 39.0 10.0 10.0 35.0 10.0 18.0
E B 10.0 10.0 10.0 10.0 10.0 10.0 10.0 30.00 34 10.00 10.00 10.00 E IR 41 452.5 432.5 41 10.0 10.0 10.0 10.0 10.0 58.0 0.0
@ 1 22.0 15.0 10.0 10.0 17.0 19.0 10.0 51.00 24 27.00 10.00 14.00 [l 23 612.0 575.0 22 45.0 23.0 30.0 10.0 10.0 10.0 0.0
L B 22.0 15.0 10.0 10.0 36.0 175 10.0 46.00 28 25.00 10.00 11.00 h B 19 623.0 593.0 20 31.0 22.0 10.0 31.0 10.0 66.0 0.0
I g 19.0 15.0 10.0 19.0 31.0 10.0 10.0 30.00 34 10.00 10.00 10.00 W a 42 4495 439.5 38 33.0 24.5 10.0 10.0 10.0 10.0 0.0
| 10.0 25.5 10.0 28.0 10.0 445 10.0 30.00 34 10.00 10.00 10.00 & ) 43 440.5 440.5 37 19.0 12.0 10.0 10.0 10.0 30.0 10.0
B 10.0 125 10.0 10.0 41.5 10.0 10.0 30.00 34 10.00 10.00 10.00 B 44 426.0 416.0 44 23.0 11.0 10.0 10.0 10.0 10.0 0.0
2 E 10.0 10.0 10.0 28.0 10.0 10.0 16.0 37.00 29 17.00 10.00 10.00 ZF IE 22 618.0 598.0 19 10.0 23.0 30.0 10.0 65.0 30.0 10.0
= A 10.0 10.0 37.0 13.0 10.0 10.0 10.0 20.00 44 0.00 10.00 10.00 = # 46 394.0 384.0 46 18.0 38.5 10.0 10.0 10.0 0.0 0.0
B M 10.0 45.0 10.0 10.0 44.0 34.0 10.0 136.00 9 108.00 10.00 18.00 B M 11 756.5 657.5 13 45.0 35.0 10.0 16.0 37.0 10.0 0.0
r= = 10.0 16.0 13.0 22.0 16.0 10.0 19.0 20.00 44 0.00 10.00 10.00 T B 14 701.0 691.0 12 40.0 10.0 10.0 19.0 19.0 10.0 10.0
R 1B 10.0 125 34.0 10.0 15.0 25.0 10.0 20.00 44 0.00 10.00 10.00 R B 47 369.5 369.5 47 19.0 10.0 10.0 10.0 11.0 10.0 0.0
S E BE K 13.0 15.0 25.0 28.0 13.5 26.5 10.0 30.00 34 10.00 10.00 10.00 BE K 35 496.0 476.0 33 17.0 20.0 10.0 10.0 35.0 10.0 10.0 S
,%E{;E X 9 61.0 26.0 10.0 55.0 28.0 10.0 10.0 30.00 34 10.00 10.00 10.00 X & 27 561.0 551.0 23 36.0 17.0 10.0 10.0 10.0 10.0 0.0 BEiA
?5/[] = 10.0 125 10.0 10.0 10.0 10.0 10.0 30.00 34 10.00 10.00 10.00 = 31 537.5 517.5 26 16.0 15.5 10.0 10.0 10.0 50.0 10.0 ?;’E
; %\ BRE 10.0 375 22.0 34.0 58.5 10.0 10.0 37.00 29 17.00 10.00 10.00 BREES 12 7245 697.5 11 40.0 225 58.0 25.0 10.0 50.0 0.0 ClV %f
;OB 10.0 12.5 10.0 73.0 33.0 31.0 10.0 30.00 34 10.00 10.00 10.00 OB 34 507.5 497.5 32 12.0 10.0 10.0 10.0 0.0 10.0 10.0
g 902 1,010 686 902 1,262 794 542 4,081 1,958 825 1,298 5 29,933.0( 28,112.0 1,441 1,837 758 686 1,108 1,026 286
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1biEiE 10.0 15.0 225 10.0 16.0 25.0 10.0 0.0 10.0 10.0 - jtisE - 15.0 10.0 10.0 30.0 10.0 10.0 11.0 10.0 10.0 13.0
g7 & 10.0 20.0 10.0 10.0 13.0 10.0 10.0 10.0 10.0 17.5 - g7 & - 10.0 10.0 10.0 10.0 49.0 25.0 10.0 10.0 10.0 10.0
a5 F 10.0 10.0 10.0 10.0 10.0 10.0 10.0 13.0 10.0 10.0 - =5 F - 10.0 31.0 10.0 74.0 10.0 25.0 10.0 30.0 10.0 10.0
= 50.0 10.0 225 10.0 10.0 10.0 10.0 10.0 30.0 10.0 - = W - 10.0 43.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0
® H 10.0 10.0 225 125 0.0 10.0 10.0 10.0 10.0 10.0 - w H - 10.0 19.0 10.0 10.0 10.0 10.0 10.0 45.0 10.0 0.0
(1T 7 10.0 10.0 375 10.0 10.0 10.0 10.0 10.0 10.0 10.0 - i - 16.0 10.0 10.0 10.0 10.0 10.0 15.0 10.0 10.0 0.0
' B 145 10.0 10.0 10.0 10.0 23.0 10.0 10.0 10.0 10.0 - BB - 10.0 10.0 10.0 10.0 10.0 25.0 10.0 10.0 10.0 10.0
B 10.0 10.0 10.0 10.0 34.0 10.0 35.0 0.0 10.0 10.0 - X W - 10.0 10.0 10.0 10.0 10.0 10.0 15.0 10.0 10.0 49.0
LIRS 10.0 49.0 10.0 125 18.0 26.0 10.0 40.0 15.0 34.0 - A - 51.0 31.0 10.0 98.0 10.0 64.0 16.0 74.0 40.0 34.0
BB 10.0 10.0 10.0 17.0 10.0 38.0 10.0 10.0 45.0 10.0 - # B - 10.0 10.0 10.0 74.0 10.0 52.0 13.0 10.0 10.0 10.0
w E 52.5 88.0 10.0 20.5 10.0 12.0 225 17.0 10.0 10.0 - # E - 19.0 34.0 225 10.0 49.0 25.0 61.0 10.0 10.0 55.0
T x 455 50.0 10.0 10.0 23.0 41.0 35.0 10.0 10.0 10.0 - Sl - 19.0 10.0 10.0 10.0 31.0 28.0 28.0 225 10.0 67.0
R X 35.0 32.0 225 10.0 50.0 25.0 45.0 33.0 40.0 10.0 - B = - 230 40.0 50.0 30.0 28.0 10.0 22.0 10.0 10.0 55.0
#E) 10.0 20.0 10.0 10.0 19.0 18.0 10.0 20.0 10.0 17.5 - GBI - 11.0 28.0 225 66.0 10.0 10.0 17.0 28.0 45.0 10.0
(1T 10.0 10.0 10.0 15.5 10.0 10.0 10.0 10.0 10.0 10.0 - [T - 10.0 10.0 35.0 30.0 10.0 10.0 10.0 10.0 10.0 10.0
wom 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 25.0 10.0 - OB - 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 17.5 10.0
R B 10.0 45.0 10.0 10.0 10.0 10.0 10.0 11.0 10.0 10.0 - R % - 33.0 10.0 45.0 10.0 10.0 10.0 19.0 10.0 10.0 25.0
E W 10.0 10.0 10.0 10.0 10.0 10.0 225 41.0 10.0 10.0 - E W - 20.0 25.0 10.0 10.0 10.0 10.0 12.0 10.0 10.0 10.0
a 50.0 15.0 10.0 10.0 12.0 10.0 50.0 40.0 10.0 385 - a - 10.0 10.0 10.0 10.0 17.5 49.0 21.0 17.5 10.0 10.0
B # 10.0 75.0 10.0 10.0 10.0 14.0 10.0 21.0 10.0 10.0 - I - 10.0 13.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 43.0
B 10.0 15.0 10.0 10.0 13.0 10.0 10.0 33.0 10.0 10.0 - B - 29.0 10.0 10.0 10.0 10.0 10.0 14.0 10.0 10.0 49.0
E A 10.0 102.0 775 10.0 10.0 10.0 52.5 15.0 50.0 25.0 - Z M - 10.0 10.0 10.0 10.0 10.0 88.0 10.0 25.0 10.0 10.0
= B 275 41.0 10.0 18.0 17.0 31.0 35.0 10.0 45.0 175 - = B - 20.0 10.0 10.0 10.0 10.0 10.0 18.0 10.0 50.0 28.0
Ik £ 34.0 10.0 45.0 10.0 28.0 20.0 10.0 10.0 10.0 10.0 - Bk 2 - 17.0 22.0 10.0 10.0 34.0 28.0 33.0 225 10.0 10.0
% = 35.0 10.0 50.0 10.0 29.0 19.0 10.0 0.0 10.0 10.0 - % = - 20.0 10.0 40.0 10.0 10.0 10.0 15.0 10.0 10.0 10.0
R 14.5 10.0 375 18.0 11.0 320 50.0 17.0 50.0 10.0 - R - 10.0 58.0 10.0 30.0 10.0 13.0 10.0 17.5 10.0 10.0
X PR 40.0 43.0 57.5 10.0 38.0 11.0 10.0 10.0 10.0 34.0 - K bR - 10.0 10.0 10.0 10.0 325 19.0 10.0 31.0 17.5 49.0
' B 485 55.0 10.0 19.5 10.0 23.0 225 10.0 80.0 10.0 - ' B - 10.0 10.0 10.0 66.0 10.0 10.0 10.0 10.0 10.0 10.0
® R 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 - ® R - 29.0 0.0 10.0 10.0 10.0 10.0 10.0 10.0 0.0 34.0
IEIT 10.0 10.0 10.0 10.0 24.0 10.0 10.0 0.0 35.0 10.0 - L - 10.0 34.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0
& W 20.5 10.0 10.0 10.0 25.0 0.0 10.0 10.0 10.0 10.0 - £ R - 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0
5 1R 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 - 5 R - 0.0 16.0 10.0 10.0 17.5 10.0 13.0 10.0 25.0 10.0
M 62.5 10.0 10.0 10.0 10.0 13.0 10.0 13.0 30.0 17.5 - m - 17.0 220 10.0 50.0 17.5 10.0 13.0 10.0 10.0 10.0
L B 17.5 10.0 10.0 10.0 18.0 0.0 45.0 10.0 30.0 385 - E B - 10.0 10.0 10.0 10.0 17.5 10.0 12.0 10.0 10.0 10.0
o 25.0 10.0 10.0 10.0 39.0 0.0 10.0 10.0 10.0 10.0 - O - 10.0 10.0 10.0 10.0 17.5 10.0 10.0 10.0 10.0 28.0
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